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SECTION A: ANSWER ALL QUESTIONSIN THIS SECTION 50 MARKS

QUESTION 1 [20]

Define or explain what you understandby the following terms:

1.1 Monograph (5)

1.2. Peer-reviewedarticle (5)

1.3 Grey literature (5)

1.4 Popular literature (5)

QUESTION 2 [10]

Classify the following typeofliterature into anyoneofthe three classes: scholarly, popular or grey.

2.1 Journal of Linguistics (1)

2.2 Farmers weekly (1)

2.3 Basic research methodologystudy guide (1)

2.4 The Namibian (1)

25 Informante (1)

2.6 African geography (1)

2.7 The NewScientist (1)

2.8 Mini-thesis (1)

2.9 A Pamphlet (1)

2.10 Introduction to Chemistry (a textbook) (1)

Question [20]

Discuss with own examplesciting, quoting and paraphrasing and whytheyare important in academic

writing.



SECTION B: ANSWERALL QUESTIONSIN THIS SECTION

QUESTION 4

Chooseonly one right answer from the given choices (A to D) of each question below:

4.1

4.2

4.3

4.4

4.5

As a general rule, the is the best measure of central tendency becauseit is more precise.

A. Mean

B. Median

C. Mode

D. Range

Whichofthe following is NOT a measureofvariability?

A. Median

B. Variance

C. Standard deviation

D. Range

In a grouped frequency distribution, the upper boundaryis:

Part of that class

The highest possible value of that class

Notpart of that class

The lowest possible value of that classG
O
D

The standard deviation is:

The square root of the variance

A measure ofvariability

An approximate indicator of how numbersvary from the mean

All of the aboveG
O
P

P

Approximately what percentage ofscoresfall within one standard deviation of the mean ina

normal distribution?

A. 34%

B. 95%

C. 99%

D. 68%

50 MARKS
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QUESTION 5 [40]

The table below shows marksobtained by 32 students in an examination. The marks are assumed to be

normally distributed (N (0,1)).

 

75} 45 |55 70] 80) 70} 95 45 65 50 60 80 45 45 65 65

55 33 80 58} 50 46 55 73 90} 70 65 60 85 66 35 40
 

                  

Determine:

5.1 The standard deviation (2)

5.2 The z-score of a student with a mark of 81.5% (2)

5.3 What was the numberof students that scored less than 60 % at 95% confidenceinterval? (14)

5.4 Determine the numberof students above 75% (6)

5.5 Sketch standard normal curves showing the areas underthe curve not representedin question

(b) and (c) above. (16)

THE END

Total Marks: 100
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